H & 0l & AHS B Ml A

0248 =& 1 3 LBtaH JIEISEIH Ml 2024-05-28 20:37:22

SH: HOjQI=XI Dt
mal: FojeI=R Jlg £
SHOl: TOHO! MBOIE O g X (crel: g)
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
ool = XDt 212,023, 163 206,088,263 5,934,900
2 173,604,883 170,192,232 3,412,651
2 33,955 164,550 169,405
| 97,716 97,716 0
= 37,996,609 35,643,765 2,352,844
S EESPITEY 197,404,997 191,652,540 5,752,457
2 162,213,883 168,981,232 3,282,651
2 33,955 164,550 169,405
| 97,716 97,716 0
= 34,769,443 30,469,042 2,300,401
ZOHO! MEBOIY U g K| 53,474,284 52,504,264 970,020
2 45,118,874 44,402,522 716,352
2 33,955 164,550 169,405
= 8,031,465 7,947,192 84,263
Zojoleta 01X (=2D) 29,194,019 38, 145,388 1,048,631
2 34,728,878 33,799,711 929,167
= 4,465,141 4,345,677 119,464
301 LBRFI 30,194,019 38, 145,388 1,048,631
2 34,728,878 33,799,711 929,167
= 4,465,141 4,345,677 119,464
REEEEREIEREESTE]) 29,194,019 38, 145,388 1,048,631
OHfANZ X 39, 194,019, 0002 29,194,019 38, 145,388 1,048,631
2 34,728,878 33,799,711 99,167
= 4,465,141 4,345,677 119,464
EEICIESBIEIER) 7,499,288 7,757,616 £258,308
2 5,768,683 5,967,397 ~198,714
< 1,730,605 1,790,219 £59,614
301 Yer2FI 7,499,288 7,757,616 £258,308
2 5,768,683 5,967,397 A198,714
= 1,730,605 1,790,219 £59,614
IREEEEREIEREESTE) 7,499,288 7,757,616 £258,308
OFUWLZ(IIZ) NS 7,499,288,0002 7,499,288 7,757,616 £258,308
2 5,768,683 5,967,397 A198,714
= 1,730,605 1,790,219 A59,614
ZOHSZ(RHAS) N2(2D) 3,898,549 4,008,473 204,924
2 2,995,038 3,152,671 A 157,633
= 898,511 945,802 247,291
301 Y2 3,893,549 4,008,473 204,924
2 2,995,038 3,152,671 A 157,633
< 898,511 945,802 £47,291
IREEEEREIEREESTE) 3,898,549 4,008,473 204,924
OB+ (XA S) NS
3,898,549, 0002 3,893,549 4,008,473 £204,924




M ZOHI=XI
g HOHRI=SX Jlg =4
el MOHO! MEOHY U g N (SHol: )
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o HlRE2
= 2,995,038 3,152,671 A 157,633
= 898,511 95,802 A7 ,291
Zofelel=dl X (=1) 1,306,715 1,156,160 150,555
= 1,112,097 983,965 128,132
L= 194,618 172,1% 22,423
308 KXIHMSOIH 1,306,715 1,156, 160 150,555
= 1,112,097 983,965 128,132
T 194,618 172,195 22,423
01 AXSHHBAELS 1,306,715 1,156,160 150,555
Q&2 ZHl XI& 1,306,715 1,156,160 150,555
= 1,112,097 983,965 128,132
s 194,618 172,195 22,423
ZRASENXNESEXRIDIHE 2GXA(21) 258,550 227,750 30,800
= 129,275 113,875 15,400
= 129,275 113,875 15,400
307 QI2Hol M 258,550 227,750 30,800
= 129,275 113,875 15,400
L= 129,275 113,875 15,400
10 Al SEXAEHE2ZHIEX 258,550 227,750 30,800
OZRAEENXNEERIDIHEH 2S XA 258,550 227,750 30,800
= 129,275 113,875 15,400
= 129,275 113,875 15,400
AMEEO THEHMA 2=(=2) 388,746 185,460 203,286
s 323,955 154,580 169,405
= 64,791 30,910 33,881
308 REXISHMSOIH 388,746 185,460 203,286
= 323,955 154,550 169,405
= 64,791 30,910 33,881
01 XN AExS 388,746 185,460 203,286
OAEZOHS! XEHAH = 388,746 185,460 203,286
= 323,955 154,550 169,405
= 64,791 30,910 33,881
ZOHQl He SE X ASIEN = 2,224,578 2,043,464 181,114
= 128,834 128,834 0
= 2,095,744 1,914,630 181,114
HOJAE && =& 681,173 652,059 29,114
308 REXISHMSOIH 374,031 344,917 29,114
01 XN ELS 374,031 344,917 29,114
OAlZ ZOHRIEHSEI|=XIJME 2EX
& 251,331 222,217 29,114
O &da A& 210,000 190,000 20,000
307 212t01 & 92,500 72,500 20,000
1 ARRI=SXAIEE X 92,500 72,500 20,000




SA: BOHOI=ZX D
MM M=K Il X
CI9l FOJOI O ZE U AMBIEO O (12l M2
25 -3 (31H) - HISAF = (1;| Palgely J 3 N Hlus2
| o=-=£28 2WnR 20,000 0 20,000
ZHONO! CHRIl AL KR 120,200 43,200 77,000
307 2I2+0| & 120,200 43,200 77,000
11 AlBIZ XA E X 120,200 43,200 77,000
RIS 100,000 30,000 70,000
OZ2H LYEHO IISHIIHS 7,000 0 7,000
ZOHO 250 S SAIY 45,000 0 45,000
307 QI2+0| & 45,000 0 45,000
11 A= XA E X 45,000 0 45,000
O2e HOjO H=Uts HAEY 45,000 0 45,000
ZHONO! ALSIECH BHCH =X 195,776 185,776 10,000
308 XX SHAISOIH 20,000 10,000 10,000
01 HXSHZAEES 20,000 10,000 10,000
OROHQ ABIRAIZ| HHEZ202 X2 10,000 0 10,000
Z0jOl UE AHIA K 91,781,948 90,524,820 1,257,128
2 80,001,778 79,224,806 776,972
= 11,780,170 11,300,014 480, 156
ZONOIXIZME T2 29 1,395,247 1,368,730 26,517
308 XX SHHISOI & 549,039 542,522 6,517
0 XX SHHZAEES 549,039 542,522 6.517
OAI2 HOjoISE Al
383, 179,000 383,179 376,662 6,517
403 REXISH S XH=01 & 115,000 95,000 20,000
01 XX SHA=EX 115,000 95,000 20,000
OA2 XIEFMAKZXIME Js22
85,000,000} 85,000 65,000 20,000
ZONOIB SR EIIALY 1,152,042 801,488 350,554
308 XX SHHISOI® 1,152,042 801,488 350,554
01 XIS B AR XS 1,140,561 790,007 350,554
OROHQABERE FIIALY
1,140,561,0002! 1,140,561 790,007 350,554
ST AHIA HI2F AI(2D) 5,184,436 4,942,228 242,208
=2 4,775,139 4,552,052 223,087
= 409,297 390,176 19,121
308 XX SHHIS0/® 5,184,436 4,942,228 242,208
2 4,775,139 4,552,052 223,087
< 409,297 390,176 19,121
01 XX SHHZAEE2 5,184,436 4,942,228 242,208
OLLTHEMHIA BIRH At 5,184,436 4,942,228 242,208
2 4,775,139 4,552,052 223,087
= 409,297 390,176 19,121
HAEON DX 3,000 0 3,000
308 XHxISHHISOI& 3,000 0 3,000




SA: O SXID
I OIS Og &4
el Zojel &= AL X3 (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
01 MRS BdExXS 3,000 0 3,000
ONWdE0He WA 3,000 0 3,000
ZES LEHH 24412 HE LU 2S(=1) 2,041,782 1,993,886 47,8%
= 1,020,891 996,943 23,948
& 1,020,891 996,943 23,948
307 2Iztol& 2,041,782 1,993,886 47,8%
= 1,020,891 996,943 23,948
< 1,020,891 996,943 23,948
1 ARSI SXIAIEEE 2,041,782 1,993,886 47,8%
OzI5T LETOHR 24A12 HE L 2L 2,041,782 1,993,886 47,8%
= 1,020,891 996,943 23,948
T 1,020,891 996,943 23,948
AES LEZY F2 OHE 2LUHY 23(=1) 981,980 91,056 20,924
= 818,317 800,880 17,437
5 163,663 160,176 3,487
308 ARISM SOOI 981,980 91,056 20,924
= 818,317 800,880 17,437
< 163,663 160,176 3,487
01 MAESHB&Ex= 981,980 961,056 20,924
OzISS LM =2 JHE dUe 24 981,980 91,056 20,924
= 818,317 800,880 17,437
< 163,663 160,176 3,487
XSS LEHe =2 08 LU 23(=31) 1,816,400 1,271,371 545,029
= 1,673,000 1,171,000 502,000
LS 143,400 100,371 43,029
308 ARISHMSOIE 1,816,400 1,271,371 545,029
= 1,673,000 1,171,000 502,000
< 143,400 100,371 43,029
01 MASHNBSExRS 1,816,400 1,271,371 545,029
OzISS ¢ =2t 15 i 29 1,816,400 1,271,371 545,029
= 1,673,000 1,171,000 502,000
< 143,400 100,371 43,029
XSS 2L SE=E=(=1) 92,000 71,000 21,000
= 46,000 35,500 10,500
= 46,000 35,500 10,500
307 2Iztol & 9,000 71,000 21,000
= 46,000 35,500 10,500
LS 46,000 35,500 10,500
10 AISNAIEHE 22X 9,000 71,000 21,000
OzI=5 2L Se=s8 92,000 71,000 21,000
= 46,000 35,500 10,500
< 46,000 35,500 10,500
OHeI=XAlE 28 € &5 XI& 49,924,187 46,579,992 3,344,195




2A:

E M

X=]

o= Xt
HOHRISXI Jlgt

D HMHISAAE 28 R E#F X

XA

o

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
= 36,964,397 35,175,070 1,789,327
J| 97,716 97,716 0
= 12,862,074 11,307,206 1,554,868
ZOHRIHFAIA [oT, AIRE SSAY 22 (=1) 3,205 3,583 A378
= 2,952 3,300 A348
S 253 283 A0
308 AHXIHMSO0IA 3,205 3,583 A378
= 2,952 3,300 A348
S 253 283 A0
01 HXEHH B E2ES 3,205 3,583 A378
OFOMIAHFAIE loTHl A Hl K& 3,205 3,583 A378
= 2,952 3,300 A348
= 253 283 A0
ZOHR! H==AIE 2SN 506,347 498,910 7,437
307 212+01™ 498,897 491,460 7,437
10 MEISXAIEHE2EHIEX 498,897 491,460 7,437
OFOL EIIANFAE 2SXH 335,018 333,697 1,321
O SsHEIE 2N 163,879 157,763 6,116
Z0H SSHEIHE A= X 11,830 8,515 3,315
307 212t01d 11,830 8,515 3,315
11 AR SX A 2= 11,830 8,515 3,315
OAlZ 0! SSHUEIHE UHesE X 3,315 0 3,315
Lo HoHIEHE 2SI 85,791 79,750 6,041
307 212+01™ 85,791 79,750 6,041
10 MEISAAEHE2EHIE2X 85,791 79,750 6,041
OIloiZ gl 2 85,791 79,750 6,041
0Nl HFAIE JIsE2AH(21) 974,35 0 974,355
= 573,150 0 573,150
S 401,205 0 401,205
403 AXIEHHSAH=01A 974,355 0 974,35
= 573,150 0 573,150
s 401,205 0 401,205
01 XIS A =22 974,35 0 974,355
OFML HFAIE JIsES A 974,35 0 974,35
= 573,150 0 573,150
= 401,205 0 401,205
el MAMEAL 2 873,840 861,731 12,109
307 212+01™ 873,840 861,731 12,109
10 MEISXAEHE2EHIEX 873,840 861,731 12,109
OFHL! HNATHEANE 2 873,840 861,731 12,109
el MAMEAIL JIsEH(=1) 1,992,741 0 1,992,741
= 1,169,551 0 1,169,551




2A:

E M

X=]

D HMHISAAE 28 R E#F X

ZOHR!I= Xl
ZOI=X JI8t =4

o

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
< 823,190 0 823,190
402 QIERHEOI A 30,030 0 30,030
= 15,015 0 15,015
= 15,015 0 15,015
02 QIR AL E X (01 &THE) 30,030 0 30,030
OZOQ HATHEANIAE JIsEH 30,030 0 30,030
= 15,015 0 15,015
= 15,015 0 15,015
403 XX SHHMSK=01H 1,962,711 0 1,962,711
= 1,154,536 0 1,154,536
= 808,175 0 808, 175
01 XIXISH A= E X 1,962,711 0 1,962,711
OO HNATMEALE JISEH 1,962,711 0 1,962,711
= 1,154,536 0 1,154,536
= 808,175 0 808, 175
HOHQ! MASHEIIAIE KR (=1) 190,552 189,952 600
= 76,221 75,981 240
= 114,331 113,971 360
307 QI2H0| M 190,552 189,952 600
= 76,221 75,981 240
= 114,331 113,971 360
10 Al S XAIEHE 22X 190,552 189,952 600
OZOHQ! MiLE HIHAIE 29 190,552 189,952 600
= 76,221 75,981 240
L= 114,331 113,971 360
ZOHO! MASHIAIL A3t X& 77,603 61,420 16,183
307 212t01 & 75,903 59,720 16,183
10 Al SXAEHE2EHIEX 75,903 59,720 16,183
OZTOHQ! AMAZTHOHAIE OHHIE XA 75,903 59,720 16,183
Ol XIGAZITHEAE 29 4,563,035 4,339,691 223,344
307 QI2H0| M 4,563,035 4,339,691 223,344
10 MEISXAIEHE2EHIEX 4,563,035 4,339,691 223,344
OEXNEAZ 29Y 240,705 208,600 32,105
OAZEC S ME0ISXZHMH 29 363,582 352,947 10,635
oot ESs A 23 266,44 222,528 43,966
OMCIM=2tES A 29 250,347 241,050 9,297
C =HSGEH 2F 454,279 442,520 11,759
Ok Zifelsg=Na 23 2,987,628 2,872,046 115,582
ZOHR! XIAALSITHEAIE JISE2(=1) 79,448 0 79,448
= 46,734 0 46,734
= 32,714 0 32,714
403 XIS HMS 201 79,448 0 79,448




2A:

ZOHR!I= Xl

g HOHRI=SX Jlg =4

Sl FOHRISNAY 29 ¥ 25 XY (SHol: )

SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o HlRE2
= 46,734 0 46,734
= 32,714 0 32,714
01 XX SN AH=E X 79,448 0 79,448
OZOHR! F2H0IZBAIE JISEZ ALY 79,448 0 79,448
= 46,734 0 46,734
= 32,714 0 32,714
ol NSASMEALE JISES 271,500 242,500 29,000
403 XX SHHSA=01H 251,500 222,500 29,000
01 XEXISHHI A= 2 2 251,500 222,500 29,000
OZOHR! =2H0IZBAIE JISEH 84,500 74,500 10,000
OAZEMCIS MEOISKIHH JIsE22 41,000 22,000 19,000
T ZHeIESE=SN2 AF 601,045 601,045 0
401 AIEHIZL 28I 0 601,045 A601,045
01 AlEHI 0 601,045 A601,045
Ok ZieIsSE=N2 A5 0 601,045 A601,045
403 XX SHHSA=01A 601,045 0 601,045
02 S| 2S0ICHEH =2 H L EFALZ I 601,045 0 601,045
T ZUISE=SX2 A= 601,045 0 601,045
Zofel 0= 52 14,574,428 14,405,429 168,999
= 11,391,000 11,261,000 130,000
= 3,183,428 3,144,429 38,999
ZoHoILRte| At E= & X =& 14,574,428 14,405,429 168,999
= 11,391,000 11,261,000 130,000
L= 3,183,428 3,144,429 38,99
ESSHHQ SSAE XA(=1) 168,999 0 168,999
= 130,000 0 130,000
T 38,99 0 38,999
308 AXIHMSO0I& 168,999 0 168,999
= 130,000 0 130,000
& 38,99 0 38,999
01 AXIEHBAEES 168,999 0 168,999
O=THUC s=4E 168,999 0 168,999
= 130,000 0 130,000
= 38,99 0 38,999
HEES(ZoHel=sX) 13,444 0 13,444
M2 EXEE 2DEXZEEZ 13,444 0 13,444
MSXNEE 2LEXSEEZ 13,444 0 13,444
802 gtet=JIE 13,444 0 13,444
01 3 NEXIEEZ 13,444 0 13,444
O'22d NS HojelAus8sI|2 23X 405 0 405
O'22d8 LATEXIIPD|MEH 29 X 2,554 0 2,554
O'22d BATSBIIPDHH JlsEd 1,554 0 1,554




M ZOHI=X 2t
M HRes(Zo=SXn
R AIRISXIRE 102X

oy~

eEs EER-E)
SA - B SA(3) - MRAY - BES 0l aroy | H o HimE=ET
0'24d R0 22T 183 0 183
O'22d HOIMED| LI XHH MZ A
o o M2 3,19 0 3,193
O'2d & oY N 129 0 129
O'22d 2Rl IIEFA XY 1,114 0 1,114
©'22 HOHOIIIE YFX| 2 702 0 702
0'23d UASHXITSEI|IHE SEX|
2l 1,784 0 1,784
0'23d UASHXCEII|IIME IS
2 52 52
0'23d TT[IEHY BBE2Y 2N 1,774 1,774




